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Y12 PRNITPA RNYHT Xnw vanp 99 — The xXn»1a teaches us only
something that does not apply to laws of betrothal etc.

Overview

The X773 questioned why the 8n> 72 limited the similarities between 2 21 13
Q>72Y "MW, only to those stated in the Xn>°72, when in fact there are more
similarities. The final answer the X723 gives is that the XIn mentions only
these similarities that exist by ¥"1 1", but do not exist by a w17 ww. This
moon will explain how the three similarities namely, saying 1"92, the 7n°77 of
an °n1> 7¥ and the 9109 of MX>7Y are not found by PYI7TP *0W.

PRITOP2 ’nYD 537 93 — All these (three [or four'] items) that were mentioned
in the Xn»72 as applying equally to 272y »17nw) o°w1 °v°) do not apply by
PRI,

mMooIn enumerates: The requirement to say 1"92 -

©a2 X722 79127 — when one sends or brings a v3 is limited to Pv3 only

N1Y 2wn — because of our concern that the woman will become an X1
if the v3 is not validated, therefore we require and believe the 5w to say 1"92 to enable
the woman and the 72y to marry —

18> %2R — however here by 1w17p there is no concern to validate the w17 0w,

mooIn anticipates the following question. Seemingly by Pwh7p there may also be a
problem of 713y, Once the woman accepts the 1w 7w, she is deemed married to the
person who sent her this 7vw. However if he does not appear after a while and she cannot
validate the 7vw, she will find herself in a dilemma whether she is nwTP» to this person
or not. She will not be able to marry anyone else, in case she is indeed married to the 92
7uwi. MdOIN rejects this concern for -

PRITOR 7377 92pn 89 7390 an — if she so desires she need not accept these

TPRNT9P. She can choose to be 2pn a PwI7P 0w only if she knows it can be validated
(immediately). If she chose to receive the w17°p 0w regardless, and a problem arose she
only has herself to blame. By ¥"w1 1"3 however, the 7231 7wX have no choice, they must
accept the MW WY va. In their situation they may find themselves may if the mvw
are not validated.

>n1> 7 — and the "7 permitting an N> 7Y to sign by ¥"w1 1"

PRATIP 923 W RY — is not applicable by 1P2179p; that we should permit an 7y
M to sign on a 7YITP T0w. MooIN explains the difference between w3 and W17°p.
J9wonT K17 w27 — for only by a va do we say that an N2 7V is w2

17575 — as the X7n) states later on” that an >m> 73 is w> provided the >m> signed
on the 70w before the 2Xw°. The reason a v is W2 if the *M> signed first, is -

" The xn3 subsequently discusses how the fourth item does not apply by PwTp.
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7T RD2 7T RN PR VAT YT 2R — because the witnesses of a v cannot
sign one without the other. The v >7v must sign in the presence of each other’.
Therefore when the *m> signs first, we have a certain proof that the *m> is a reliable 7¥ -
Y77 a7 JM9T INY 987 — for if the Y13 were not a *"an', the Hxw -

monpn % anmn M X2 — would not have allowed the °mb> to sign before
himself. The x> and the >m> were both present simultaneously at the signing of the
vl The fact that the >m> signed first indicates his status as a 92m, otherwise the HRw”
would have insisted that the X% sign first. We know then for sure that this *m>is an ¥
aw2. All this is predicated on the rule that v7 7Y must sign in each others presence.

7T R92 7T PR peTpa Y2k — However by a pwiop quw the 0°7v may
sign one without the other. They need not sign in each others presence. Therefore
even if the *m> signed before the X" there is no indication that he is a 1an. The reason
the *m>3 signed first was because he came first and the other X2 7v was not there yet.
We cannot rely on this >n>.

moon will now explain why by 7°v°) there is a requirement that the 2°7v must sign in each
others presence, but not by 7P17°p

22910 2R A3k T K97 — because by 1P1Tp it is not relevant to decree
that the 0°7¥ must sign in each others presence out of concern that the Hv2
may say 'as?2' — “all of you’ sign the Tvw.

mooin will explain the 79°13 of 03910 by Pva.
729973 ©A 9327 — for only by ©x are we 9713 to sign 7 °192 777
2301 25910 Ry 82w — for perhaps the Hva will say ‘“all of you sign’. The

Y2 may say this to many people (more than two) that his wishes are that they should all
sign this v3. He will have said it to them perhaps even before the v was written.

71 X922 177 vanm ary — and if they will sign one without another; all the o7y
will not be there simultaneously, then —

QoI 12 nnw Ry — after two 0°7v will have signed the va

TR 170" — and they will give the v3 to the woman; thinking that since two
0°7y signed the v it is a w2 v, regardless that the 2 explicitly said 03912

nwABR XY 7120 — and the woman will assume that she is divorced. She
received a ©3 signed by two o7V

Xwim T2m — and she will go and marry another man

75 Y21 — The husband, however, is particular that all the 0>7v sign. The fact
that they did not all sign, invalidates the vi. The woman is still an ¥°X nwX, when she
remarries the new husband. This is the reason that 77 *192 R5W 71 1M1 VAT >7Y PX. When
they are all present each one realizes that all must sign the 3.

% See end of this Ty and 2,

? This will be shortly explained.

* A 'Man' was a status conferred upon individuals who were very scrupulous in their observance of ms»
including and especially in the N7 from aRM™.
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WY PR PRITR2 2R — however by 1ui7p there is no concern of 0391, Even
if the (future) husband said 03713, and not all signed, and therefore it is not a valid Pw17°p;
nevertheless no harm will follow -

nWTIPR RO 200 ar — if she assumes that she is nwTIPR. Generally no Mo°x
will be transgressed if a woman mistakenly assumes that she is nwTP», when in fact she
is not. Therefore there is no rule by 7"w17°p *7¥ that they must sign in each others presence.
Subsequently even if the *n13 signed first, there is no proof that he is a 72r.

mooIN anticipates a possible problem if a woman mistakenly assumes she is nwTpn and
ignores it -

Xroow 8% 871 — and this is not frequent

anR% PwITR Yapnw — that she will accept 3217°p from another man. After
she received the 1w 7P "vWw, another person will be wpn her, and for whatever reason she
will accept this Pw17°p, The woman since she is under the mistaken impression that she is
nwTpn to the first man will ignore these later Pw17°P; when in fact she is nWTpPn to the
second person. Therefore perhaps we should enact the 23913 Dwn 77°13 by PYI7TpP as well.
The Pw17p »7v should have to sign 777 192 777 in order to avoid this consequence.

mooin replies that this is of no real concern to us. It is highly unlikely that she will accept
TW17°P from another person

NWTIPR NP 720w 1192 — since she is under the assumption that she is

DWTIPR. A woman who is nwTpn does not seriously accept offers of 1w17°p from other
men.

NINSTY 321 — and similarly the 2105 of nIXS9Y which is found by ¥"e 1"x will not
apply to PR,

DR [7790% 97V RDIRT 192 — since there are present at the giving of the oW
TR Jewish mvon vy

PRI WD — it is > by PwTR

292012 972 PRnImR 90 YY nX — even though that gentiles signed on the v
Pw1Tp. There is no 2109 of 19111 917 as there is by ¥"w11"a.

wmnh 8997 — for there is no concern that

19y a0 R onR X997 — perhaps we will come to depend on them’

7opn 979 R 897 — for it will not come to any harm, even if we will rely on
the testimony of the MRV -

NWIDTD NWTIPR NNTY Maow na — in that it is assumed that she is n@Tpn
as we just explained®. Even if we validate her Pv17p 70w based on the testimony of
the mx>7y it will raise no problems. No relevant illegal action is being taken here based
on their testimony. By v"u1 1"3, however, we are allowing them to marry based on the
testimony of NMX237y.

> See mm 1" X,7 190N that the 9109 of 12101 711 is because we are concerned that we will rely on the
testimony of the invalid fn°nm >7y.
% A woman who mistakenly assumes that she is married does not (generally) carry any risks of 2™ 110°x.
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Moo poses a question:

AT RN RN 28 — You may ask there is the requirement to date the
document

2972 YN 291 W M — in which '@ 1) are similar that they both
require dating their documents as opposed to a w17 0w that does not require 'Jat.
mooIn will now quote a source that a MW VW requires or.8

(3,82 A7 mea) MR "7 2B J39ARTS - as the XA says in PR T 29D in response to
a previous statement there that 117 is not required for those transactions (i.e. 7"¥17p) that
may be carried out either by 70® or money

NILW2 °IPT ROORY NDOI2 SIPT NN K72y N7 - ‘but by an 72y where the
acquisition’ may be either through a =vw or through money and
nevertheless

127 3229 19201 - The 3127 instituted the requirement to date the “vw of the 72v°.
This concludes the quote from the X 13,

ST%R 2572V SMIw2Y - And the X773 there is discussing the Y of freeing
the slaves; a 7w "ww. This concludes the proof that a MW “WW requires a7,
providing we interpret the X723 there referring to MNY VW,

mooIn will now present a differing opinion as to what type of 70w the X3 in MM’ is
discussing and refute it.

TILNPS 2w WA s X9 - and not the way >'"'w= there interprets the
phrase of XqVWw2 °1p7 XI°X) to mean -

72¥ n99on "uw - the "ww of buying a slave; only a 72v n7on “WW requires a1
according to >"wA not a ' ow.

This is not so maintains NHOIN -

12 aR7 — for if this is so that the X3 when it states: °IP7 XX XDDI2 *IP7 RIRT'
X0Ww1 is referring to a 72y n7°on 0w, why then does the &322 limit its argument to a VW
72y N7°On only, which may be something infrequent, when the X713

Mypapn Ton% x» M — could have argued from the M vw used in the
sale of properties

Mauw 921 - and indeed from all documents in general. In all these transactions
the rule of 'RIVWA *3P7T KX XDOIA *1p7 XK' apply, just as they apply to 72y N7 vW.

17 12 PRS2 YOI 1R IMIRT 7Y - and furthermore indeed that naon WY
72y in not op if it is not dated"".

" The X713 in N2’ quoted immediately explains why there is no 121 by Pe17p 0w,

S awr requires 727 as the X3 states clearly on X,7> 77 the two reasons for 1°0°32 ja1 nIpn either because of
3% or MR N2 %Y 757> Xnw. See also 7Iwn on X, quoted earlier on 2,3 7.

® This will be referring to the 72y acquiring himself, i.e. becoming free. >"w1 will obviously disagree.

19 According to s™"w interpretation there is no proof from this X723 that a M MW W requires 127

' The same is with the other MW they are not 2109 if there is no 7.
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999K MR Awwa XOX - Therefore we must say that the X3 is discussing a
1T uw

2OW3I WA 17D 3T K92 Bonaw - which is ®1op if there is no %1, just as wa
QW1 are 709 if there is no ya7.

mooin replies:
NIV D2 AT NI PR 1907 A wn - We can answer that since it is
customary to include the date in all documents'” -

X277 8°an 8% — The Rin of the Xn>>12 did not teach this similarity here. The
Xin lists the similarities that are unique to ¥"w1 1"3; dating a "vw is common to all MW,
even though it may not be required.

Summary
There is no "7 of 1"92 by PU1TP, since there is no wWwn of X1IXVY by PP,

The woman has the option of not accepting the Pw17°p 0w

An °m> 7Y is 709 in a PWITP 0w, even if the *m> signed first. There is no
requirement that the w1 7P 7vWw 7Y sign in the presence of each other. By
PR 0w even if he would say 2091, and all did not sign, no dire
consequences would result.

MDY are W2 by PwITR MWW if it was given PR 77°01 792, There is no
problem of 1211 7™M, since we are not really acting on the testimony of the
MRV,

The Xn>72 does not mention the similarity of j»7, since it is common to write
the 771 in all NM1YVW.

Thinking it over

Mmoo concludes’ that 117 is not mentioned since it applies by all now.
Seemingly we are not interested in all "17vw, but rather only what applies by
Mpunp and by w1 0w there seemingly is no r?"

"2 See “Thinking it over’.

13 See footnote # 12.

' See previous Xn?"» 71"7 2,0 MDY,
15 See x"wAmn.



